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DSA 118-02

ULTIMATE JUMPER
Gauge 27 sts

DESIGN
Ane Kydland Thomassen

YARN
ALPAKKA WOOL 60 % finest alpaca, 40 % pure new wool,
50 grams = approx. 166 metres

SIZES
XS (S=M) L-XL (XXL)

MEASUREMENTS

Upper body approx. 103 (113) 130 (140) cm

Full length approx. 54 (56) 59 (63) cm

Sleeves approx. 44 (43) 42 (41) cm or desired length

YARN REQUIREMENTS
7(8) 10 (11) balls

COLOUR
Pink Camel 555

SUGGESTED NEEDLES
2.5 mm and 3 mm long and short circular needles and DPNs

GAUGE
27 sts x 32 R stocking st on 3 mm needles = 10 x 10 cm

Check your gauge by working a swatch.

Count the number of sts per 10 cm. If you have more sts
than suggested, change to a larger needle size. If you have
fewer sts change to a smaller needle size.

YARN ALTERNATIVES:
Dale Garn: Alpakka Forte
Du Store Alpakka: Dreamline Pure, Mini Sterk

FIND YOUR SIZE Gjestal Garn: Silja Superwash, Baby Bomull

1. Measure a garment that fits.

2. Compare your measurements with those in the pattern.

3. Select your size based on the upper body measurements.

4. Body and sleeves may be worked longer or shorter as
needed.

NOTE! If you choose another yarn quality pay
attention to the following:

* Gauge

Make sure you have the same number of sts per 10 cm
as indicated in the pattern.

e Meterage

Does your chosen yarn have the same meterage as
indicated in the pattern? This can affect how much
yarn you need.

* Rows/rounds vertically

Even if you have the same number of sts horizontally,
sometimes the vertical gauge can be different. This

ABBREVIATIONS

k = knit, p = purl, st = stitch, R = round/row,

DPN = double pointed needles, K2tog = knit 2 together,
m = marker, PM = place marker, tbl = through back loop,
RS/WS = right/wrong side, SSK = slip slip knit

could mean the length of the garment will not be the
© House of Yarn AS same as in the pattern.
The copying and publication of materials and patterns, o Fibres
or their use for commercial purposes, is not allowed The contents of the yarn affect the garment's quality,
without prior agreement with House of Yarn AS. look, and characteristics.
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BODY

Cast on 318 (350) 402 (434) sts on 2.5 mm circular needles.
Work a twisted rib in the round (K1 tbl, P1) for 5 cm. Change
to 3 mm needles and work stocking st. At the same time on
R 1, decrease 40 (44) 52 (56) sts evenly spaced = 278 (306)
350 (378) sts. PM in each side with 139 (153) 175 (189) sts
on each side for the front and back pieces. When the piece
measures 31 (33) 36 (38) cm, cast off 24 (28) 30 (32) sts on
each side for armholes (= 12 (14) 15 (16) sts on each side

of each m) = 115 (125) 145 (157) sts on the front and back
pieces. Set aside and work the sleeves.

SLEEVES

Cast on 60 (62) 64 (66) sts on 2.5 mm DPNs. Work a twisted
rib in the round (K1 tbl, P1) for 8 cm. PM around the first and
last sts (= m sts). Change to 3 mm needles and continue with
stocking st. At the same time on R 1, increase 7 (9) 11 (13)
sts evenly spaced = 67 (71) 75 (79) sts. When the sleeve
measures 7 cm, increase 1 st on each side of the m sts.
Repeat the increases every 1.5 (1.5) 1 (1) cm, 20 (22) 24 (26)
times in total = 107 (115) 123 (131) sts. When the sleeve
measures 44 (43) 42 (41) cm, or your preferred length, cast
off 24 (28) 30 (32) underarm sts (= m sts + 11 (13) 14 (15) sts
on each side) = 83 (87) 93 (99) sts. Leave sts on the needle
and work the other sleeve.

YOKE

Place left sleeve, front piece, right sleeve, and back piece
on 3 mm needles = 396 (424) 476 (512) sts. PM around

3 stsin each join (= 1 st from sleeve and 2 sts from front
or back piece). Continue in the round with stocking st and
work pattern according to diagram across the 3 m sts in
each join. On R 2, begin decreasing for raglan: work to 2
sts before each diagram, *slip 1 st knitwise, slip the next st

knitwise, place both sts back on the left needle and K2tog
tbl* (*—* = SSK), work pattern according to diagram, K2tog.
Repeat raglan decreases every 2nd R, 25 (26) 26 (27) more
times. At the same time on the last R of raglan decreases,
cast off the middle 23 (23) 25 (27) sts on front piece for the
neckline =165 (185) 235 (261) sts. Work to end of R, cut yarn
and move the beginning of the R to the left-hand side of

the neckline. NOTE! Begin on a WS R so that the English rib
stis worked on RS. Working flat, continue to decrease for
raglan every 2nd row 6 (6) 4 (1) times, then every row 2 (4)
12 (19) times. At the same time, continue casting off for the
neckline at the beginning of each R: 3,2 sts on each side,
then 1 st at beginning of each R until the raglan decreases
are finished. NOTE! Raglan decreases from WS: Work to 2 sts
before m sts, slip 1 st, slip 1 more st, place them back on left-
hand needle and P2tog tbl. P2 together after m sts.

NECKLINE

Change to 2.5 mm short circular needles and pick up approx.
13-14 sts per 5 cm around the neckline, including sts already
on the needle = approx. 128-148 sts. St count must be
divisible by 2. Work a twisted rib in the round (K1 tbl, P1) for

7 cm. NOTE! Make sure that sts from each join continue as K
and P sts on the neckline. Cast off loosely with K and P sts.

ASSEMBLY
Fold the neck double to the WS and sew down. Join the
underarm seams.

FISHERMAN'S RIB STITCH

Knit through the stitch from the previous row
instead of the stitch currently on the needle.
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[¥] English Rib st: K 1 through st from
previous R

Do you need inspiration for your next knitting project? Check out the website houseofyarn.no




